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UNIT 1: Number Applications AMDM Final Review ('u de '
1) How many phone numbers are possible in the (770" .- code if: For the form ABC-XXXX, A is

restricted to 2-9 and B is restricted to 1-9. X and C can be any digit 0-97

8+9.10 .10.10:1010 72
10101010+ 7200000
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2) Write out onac—is:l'?d OU-(f’C code a;d one invalid UPC code. Show the math on both to prove they are
lid or invalid \
vali ormvj_lllgouﬂ,lgolz 125613% 70010 o
24 2415 +0¥3 e 30 (243 4 0+Ot3H42 = q& 342¢154043474(2431070+ 140 — 9%
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ng: 90 test average, 84 on the final exam, 85 homework average,

3) You finished your class with the followi :
final grade in the class using both grading systems:

and 100 in participation. Calculate your

Grading System 1: Grading System 2:
Tests: 65% 90 T $3.5 Tests: 70% 9o 63
Final Exam: 10% &4 = 8.4 Final Exam: 20% ®4 = 0.8

Homework: 10% ®9 = §.95 Homework: 5% 95 v.25
Participation: 15% o6 =15 Participation: 5% | = S

qo. 8a.05

n

4) A combination lock has 6 digits, none of which can repeat. How many different combinations are

possible?
10-9- 3 7-6-5 = \S| 200
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5) You are standing among a crowd that is 10 feet deep and 1 mile long at a parade. You want to estimate
how many people are there. If 30 people occupy 25 square feet (thatisa 5 ft by 5 ft square), estimate

the size of the crowd watching the parade along a 1 mile stretch (there are 5,280 feet in ope mile)
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UNIT 2: Probability

6) A study was conducted at Sparyberry about the number of people who participate in sports and those
who participate in clubs. 170 were surveyed and 62 students participate in sports, 84 participates in
clubs, 11 do both and the rest do neither

oS Mt A guastion
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7) What is the probability that a person only participates in sports? (write you answer as a percent)

bZ: 3,8 deky. 3y

1”70
8) What is the probability that someone particpates in both sports and clubs? (write you answer as a
percent) I
— (i ; 06 N
170 ©7.




9) What is the probability that the student is not in sports or clubs (write you answer as a percent)

> o3 V4
(208 & 7 AU
Use the diagram to answer the following questions

10) If'a penny is dropped on the mat, what is the probability of the following:

Gray: %‘ A SV

White: &= = gqy
8

Black: 2 :
8 e ls /.

11)If a penny is dropped and it lands on black the player earns $5, if a penny is dropped and it lands on gray

the player earns $6 and if lands on white the player earns nothing. It costs $3.00 to play the game. How
much would the people who RUN the game expect in PROFIT per play?

c,'(.’»1.5+ < €\ - 3-27s5 7 3.1S meAT
8 G g) +0(5>- 2.77%
12) If the people who run the game want to earn at least $125 in profit, how many people should they expect

to play the game? I&S =. 25« 500 People

UNIT 3: Statistics
Define the following terms and give an example of each:

13) Treatment
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20) Scatter Plot:

(ompares A Variages 4 See dyeds, e

21) Pie Chart
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22) Bar Graph
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23) What are the 5 types of sample, define and give an example of each

QAMPLE  RANDGM: EACH MENQER OF A PopuTion MAS AD CROR GAAKR OF (GRS SELETTED, EX: M Getny
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UNIT 6: Finance
24) Jacob just received a settlement from court case in which he received $3,400. He decided to put this in a
savings account which earned him .07% compounded quarterly. How much money will he have at the
end of 6 years? N oY=24 gv: )
T .07 Py 4 CBZ\H‘I.S\D
PY: -34o0 Cq: Y ——
PMT O
25) Pauline is 16 years old and is saving up for a down payment on a car when she turns 18. The down
payment of the car is 10% of the cost of the car. The car she wants retails at $26,700. If she is going to
put her money into a savings account that accumulates 3.2% compounded monthly how much does she

need to put into savings now?

3 SIApIe AN
‘E} : 3.2 26,700(10)- 12670
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KIKi hes raciced ur . ... .fcredit card debt over numerous <. - ;i cards. Below -
+_ her current balances and rates. N= %
a41.2 4 Visa: I~
4%%.9 IMasterCard:
S 8.4\ BP Gas Card
, 1779.76 Kohl's Credit Card: 63 445 21.99% APR @7 =12
k) She wants to pay off all of her debt in 2 years. What would the minimum paych( 6 for each credit
IR TS GRE (LT

3'7) So how mu{l\ would she be paying total for all 4 credit cards each month?
ADD  TOLETHEOL X 46692 TOAL

edit cards with

-

H
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23 She makes $3,000 gross monthly income as an assistant manager. Her monthly taxes are 15% in income
lax, 1.45% in medicare, 6.2% in social security and 7% in state income tax :
a) What is her after-tax monthly income? 1§ 4 Lyg+¢.247 > 24, s 7 ‘
: Z 894, ' :
ZOGD( 20 (6s) 4.9 3: ’BM.S: £2110.$6

b) If her monthly bills + utilities come to a total of $1120 per month, what does that leave left over for

food and other expenses? ¢ YIKes! ‘to. \c
auo, ‘¢l NEEDS e
- 120 s&wcmﬂ = 273'(’7 \s‘m‘; Senioss MQSMM\S

= A66.83  cemt chto Bites . :
7.9 You are buying a new car for $55,000. &(gu are laking out a five year loan from the bank with an  /buws

interest rate of 3.9% PV Do phym 55,0%(«0'7\ » 3g50 ™"
a. What is the monthly price of the car  N=§
%q.‘-?y([)) F:goq , PV:SS,ooo—- 3%506 =
b. What is the total cost of the car? %\J =61,150 BY 150
. Y22 A
= Fu-
9 39, TOX(66 4+ 2850 = ?v"‘v‘_f,z
b le oz
Y MONTHLY Rum 7
Pyt Town Py
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A0 Lance is in credit card debt. e currently owes 8,564 on his Visa. He has decided that he is not going to
nake any more purchases.

a. If he wants to be out of debt in 2 years how much would he need to make in monthly payments? His
APR s 26.99%. WN=2Y

L2264
S 4465.67

ImY: 7D
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b. The credit card company oniy requires him to make a minimum payment of $200 cvery rTmnth. Ifhe
only makes the.minimum payment how many years would it take him to pay off the credit card?

@ No UMD MowmsS s |2 venns
Nz 56
PMmi= =200 —

V=0 pylyz 2

), Heidi just took out a student loan for $23,560, She is using a subsided government loan which is a
4.99% interest compounded monthly and has a 10 year pay back limit. N= 120

a. How much will her monthly payments be? L=4.49
(ﬁ\m ,,7byp 4 pvza% 560
\—./ . ?
AT}
INLy=0 .
b. If she chose to pay back $350 cach month instead how@uld it take her to pay it off? How
much time does she save? > —a '
= AL 17 4449
NZTQ megmHs :@ PY=23 540
UNIT 4/5: Formulas/Regression PTs 2350

There is a new restaurant (Buffet Palace) that charges based on the amount of food that you consume. The
following breakdown is how the restaurant charges. Note that you are charged a one-time $2.50 plate fee

' Pounds of Food Price per Pound
[ Upto 5 pounds $15 per pound
- | Greater than 5 pounds but less than 10 pounds | $6 per pound
Greater than 10 pounds $4 per pound

72) How much would you be charged if you ate 3 pounds of food?
280 + B = gy".50

3%3) How much would you be charged if you at 8 pounds of food?
2.50 + B(\8) 1 3(6) -~ 446.S

34 How much would it cost for your brother (the bottomless pit) who ate 19 pounds of food?
.50t 5(1) 1 5(6)+ q)= BIM3.So

35) Determine if the tollowing are correlations or causations and then determine if they would be positive or |
negative % . '
a. There is a strong connection that in many marriages, the older the husband is the older the wide
is COQLENTION, PEDpLE TRND To MARBy 3engovE Cose T T Ade, ex, OLWR

peopce TeMP TO MAGRy PR Peuptf Bur 4 HURADS AGE Does wWT CALSP
THe WIRES A?E. o5\ T\ ’

b. The numiber oﬁ:)urs of cxercrt mplete each week and the amount of calories burned,

LusaTor), ERenuse DIRFCTLy gAMFeTs o€l BaNG  Bowed. NEWnVE
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' . cxample of the following types of regresc
w o wi
“ } EREEERA AL ] -1-:Lt A N REBERERRAE § .t,"lL‘H_ﬁ.ﬁ_,_ﬁ?
| Lincar/Positive/Weak  Linear/Necgative/Weak Lincar/Positive/Strong  Lincar/Negative/Strong

37 ) Classify the type of strength and direction of each of the correlation coefficients.

r=0,9994 r=0.7442 r =-0.9987
SMors,  pesHVAL WenK  pesTI'E Qo

AR, NELAWVE
r=-0.3332

MO conpaaTioN
The following data has been collected regarding hours studied and grades on a Final Exam:

r=-792 Lieas  NEBWATIVE

Hours 1 2 3 4 S Ofa 27K] i
‘Grade 61 68 77 82 85 90 04
' Which regression model best represents the data linear or exponential? Why? s
Livea.= (. Q8 & LuBAL s THE SertTIRL .
BXponenTo ©= A7 5 Mdreumiosn  Cowed T e il
14) What is the correlation cocfﬁcicnt’f —:—"'—L'
= U86 LAOEATL

4o) What is the regression model? (equation)
Y = 5.3GxrS Q.

4t} What equation would you expect someone to get if they studied for 9 hours?

:6.3q(t5% L& wpeTl] THELE baTe
A 2) Approximately many hours would someone need to study if they would like to make a 100? ¢

160 = S.29¢+S9Y v, HOLS




